)

Yo Ty Yy my my mg Ly, Ly,

(cm) (cm) (em) (cm) (gm) (gm) (gm) (cm) (cm) (cm) (cm)

0 18 28 15 20 2 10 9 6.8 9.6 13

PE<$1,3/1’~’13271/2,333,3/3> =g- (ml-y1+m2-y2+m3-y3)
% Ty 5 Y1 10
Ell|zy|:=| 7 |cm |y,|:=| 8 | cm
‘é T3 10 Y3 7
S
% L01=\/<371—330>2 +<y1_y0>2 L12=\/<371—332>2 +<y1_y2>2
i 2 2 2 2
o Lys= \/<fL'2 - 553) + (yz - y3) Ly = \/<m4 - 553) + (?J4 - y3)

£l [ 3.089]
w 9.547
=

i w5 4
% zz :=Minimize <PE 1 L15Y1,L23Y2,TL3, y3> = glgg cm
U s 18.93
y 5.687
| I3 | - -




Yo
Y1
Ya
Ys
Ya

v

8

9

10 11 12 13 14 15 16 17 18 19 20 21
Lo
Ty
2, | (cm)
L3

Ly
e

22 23 24 25 26

27

28 29
























